Sk

g
Tl
>

1. ¥¥4
¥4 SFOTAEEE  FE[) S PN S B R R
JEATST FIE AT ) 1| = RS T Y

2. EBEAR

1) FEF4

2) BITHIRM

SERGT)NENE SH5ET  EH A PR

269 H M B 4Af 74 6H25H
& Sfn 84 3H20H

3) &FEtHM

AZERIT, AR | ERE FBETE NI F 1T S M,

R 2 BT 2 b D TH D,

4) FEHBNA
BIE TEERIEER) OLBD

Tl
I
.

. mAEAT, SO

E+sZi@E SN



i

i
T

N

%lljll
I

kWA | DRITHEE RN NE RS PR R S ER i W=
HH FEYE S
THH - T - R A7 # & KA MR N R
FEHE S = 421, 930
LV S & =X 360, 800
4 R S B =X 360, 800 | 4 HRFLIESHIE
10 =8
KA E T L, &S 20
IRYEH & =X 61, 130
4 K MR X 61,130 | 4R/KEEHIEBE (LLVFEIZLD
) 1 km
HZ £ = 948, 492
HL £ = 948, 492
bR = 948,492 | it E (FESER M)
1 kW
B b
0.01 )1 (km2) =
s T & = 3, 602, 690
BRI = 3, 602, 690
BRI = 3,602, 690 | {EXEHHE
1 S0
T kAT
0.5 km
LRI
0.5 km
5 B Mkl
0.5 km
eI &
-1- E+2mE SN )R



==
=]

m
2
%

kWA | DRITHEE RN NE RS PR R S E W=
H H SR E
THH - T - R A7 % & & KA OB RR
0.5 km
TR
0.5 km
FRAMI A CHRETR=)
0.5 km
FRAMIE (REWTRIE)
0.5 km
FHHubE AR ]
0.5 km
EiS T 52V 1 50, 850
BLsii] = 1 50, 850
frowe = 1 50,850 | 1A
1 A
[EReS S~ = 1 116, 569
[ERc S~ = 1 116, 569
TR e = 1 24,569 | Jikdasime: (i E - EmINE)
1 =
B R = 1 92,000 | BRRAMTERE
1 =
B = 1 5, 140, 531
[ Ry = 1 4, 049, 469
AR = 1 4,049, 469
T EZERS M = 1 9, 190, 000
— AR = 1 2, 235, 736

-2 - E+sZi@E SN



i
I
St
%lljll
I

EWA | DRTEE TN NERE IR RS E A
H H —fxFRAE
THH - T - fER] A7 ¥ & 4 % OB ORR
B = 1 1,431, 560
R — 1 > 7 2V 1 754,500 | PER—V () varR—U
7) 15 m

W - WE L, 50mLL T, $RIE T, ¢ 66mm
ERAR—Y T (F—arTR—1

) 15 m
4155, 50mLA T, $AEL N7, ¢ 66mm
YU T 4 o7 RONENCERR M 1 412,500 | HRAEEAGER
15 [F]
W g+
FEHE I AGRBR
15 [F]
(¢
K AT = ! 186, 560 | AT AL
1 X
AR R 2y 1 72,000 | B ARRAVERE
1 X
TR g = 1 6,000 | FREES
3 EN
AR = 1 804, 176
TR = 1 42,800 | 1EHE
1 =
HEf #y = 1 365, 170 | ME(E K OB 41
1 =
A FLEAZE
1 =
FaKE (R 7 5EE)
1 =
e = 1 192, 900 | JEH Ik

-3 - E+sZi@E SN



N

Tl
P

==
=]

EWA | DRTEE TN NERE IR RS
THH - T - fER] A7
1 =
st = 172,800 | BRIEFRA (Y
1 X
TR m 2y 30,506 | fc#raQidEE (GREE - @A)
1 X
EAETA -+ A =X 2,235, 736
SifzSey =Y 1, 704, 264
FEIRE 2y 1,704, 264
— A = 3, 940, 000
AT A E2V 715, 092
EHEEGE = 715, 092
AT = 715,092 | ARHTIRE
1 M
o] = 115, 400
Bisii] = 115, 400
Tavs = 115,400 | #1468
1 =
EEEM (ZFOM)smz <) = 830, 492
Z O FA = 447,219
— B = 682, 289
AT ST T =K 1, 960, 000
-4 - E A28 SUNHT R



i
I
St
%lljll
I

EWA | DRTEE TN NERE IR RS E i A
H H TSRS R
THH - T - fER] B fr ¥ & 4 % OB ORR
A SERS M = 1 5, 900, 000
TERERET 2y 1 3, 638, 732
TERSERETBIRE OfMhERE 2y 1 72, 525
EHRR R ERRZ DfthERT 52V 1 72,525 | BUAPER

(0 )1 (miX

VAR A ZE AR R X 1 1, 261, 607
VR A AR R &V 1 1,261,607 | “VHIASHEAMGEMIRRE
1 T
#i )N1/500
— SRR = 1 2, 304, 600
— AR F 2V 1 2,304, 600 | R HERE
3 )1 (@Epn X
7" VA LB BERE OB — AR X MERK
(2 )1 @Epn=X
LA = 1 797, 575
Him GREHER) = 1 797, 575
o = 1 612,500 | fFT&H
1 =
DA = 1 185,075 | & [FIE Hhpcds
1 [=]
PR AR |2 K B
3 [=]
FHEHRT = v 7 o — FOFERR
1 T |

-5 - E+sZi@E SN



i
I
St
%lljll
I

EWA | DRTEE TN NERE IR RS E BOES
H H B
THH - T - fER] B fr ¥ & 4 % OB ORR
ERERE = 1 327, 602
[ERES S E2V 1 327, 602
i Gk 2y 1 27,602 | k& EE (FE L - BOHE)
1 X
Ty 2 1 300,000 | FEFHRAIERE
1 X
EHEEA (ZOMFmER <) 2y 1 4, 763, 909
Z DA = 1 2, 359, 360
— R A = 1 3, 826, 731
SRR =X 1 10, 950, 000
SRR = 1 26, 040, 000

-6 - E+sZi@E SN



